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0 1 −1 5 −3
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
�5�§|!�Ñàg�5�§|©OÓ)u{

x1 = 2− 2x3 + 4x4

x2 = −3 + x3 − 5x4
§
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x1 = −2x3 + 4x4

x2 = x3 − 5x4
k��A)§�Ñ|kÄ:)X©O´

ξ0 =


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SK8.��µÙ¥k 6= 9´~ê.
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1 0 0 1 2000.02579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 -28.346 -157.808 08Td [(0 1 10.9091 Tf 50.165 209.4498Tf 47)]TJ/F15 10.9091 Tf 8.797 0 Td 6(=)-278(2)]TJ/F16 10.9091 Tf 16.969 0 Td7(ž)]TJ/F26 10.9091 Tf 10.91 0 Td  [(§)]TJ/F68 10.9091 Tf 10.909 0 Td [(•)]TJ/F67 10.9091 Tf 10.909 0 Td [(§)]TJ/F68 10.9091 Tf 10.909 0 Td [(|)]TJ/F44 10.9091 Tf 10.909 0 Td [(Ó)]TJ/F31 10.9091 Tf 10.909 0 Td [())]TJ/F38 10.9091 Tf 10.909 0 Td1(u)]TJ/F80 10.9091 Tf 13.636 18.655 Td [(()]TJ/F74 10.9091 Tf 13.77 -11.0 [(Td [(x)]TJ/F72 7.9701 Tf 6.235 -1.636 Td [(1)]TJ/F15 10.9091 Tf 7.762 1.6363Td [(=)]TJ/F77 10.9041 Tf 11.515 0 Td [(�)]T72 7.9701 Tf 6.235 -1.636 Td [(3)]TJ/F74 10.9091 Tf -69.987 31.7483 Td [(x)]TJ/F72 7.9701 Tf 6.235 -1.636 Td [(3)]TJ/F25 10.9091 Tf 7.762 1.6363Td [(=)]TJ/F77 10.9091 Tf 11.515 0 Td [(�)]TJ/F15 10.9091 Tf -69.987 Td [(2)]TJ/F72 7.9701 Tf 6.234 -1.636 Td [(2)]TJ/F3
1 0 0 1 28.346 191.53174.311(0 1 2000.02579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 2000.02579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 -28.346 -157.80874.311(0 1 10.9091 Tf 50.165 129.69646.199304)]TJ/F21 10.9091 Tf 10.909 0 Td [(:)]TJ/F31 10.9091 Tf 10.909 0 Td [())]TJ/F43 10.9091 Tf 10.909 0 Td [(X)]TJ/F92 10.9091 Tf 10.909 0 Td [(•)]TJ/F80 10.9091 Tf 10.909 25.2 Td [(0)]TJ 0 -19.2 Td [(B)]TJ 0 -6.982 Td [(@)]TJ/F77 10.9091 Tf 11.515 01.088 Td [(�)]T17 10.9091 Tf 11.515 -16.259 Td [(1)]TJ 0J/F15 10.9091 Tf 8.484 0 Td [(2)]TJ -1.242 -16.259 Td [(1)]TJ 0 -16..9091 Tf 9.697 41.984 Td [(1)]TJ 0 -19.2 Td [(C)]TJ 0 -6.982 Td [(A)]TJ/F26 10.9091 Tf 9.545 0.982 Td [(§)]TJ
ET
1 0 0 1 148.65 129.69646.19930 1 2000.02579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 2000.02579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 -148.65 -129.69646.19930 1 10.9091 Tf 148.65 129.69646.199304)]TJ/F31 10.9091 Tf 10.909 0 Td [())]TJ/F92 10.9091 Tf 10.909 0 Td [(•)]TJ/F80 10.9091 Tf 10.909 25.636 Td [(8)]TJ 0 -9.818 Td [(>)]TJ 0 -3.273 Td [(<)]TJ 0 -19.636 Td [(>)]TJ 0 -3.273 Td [(:)]TJ/F74 10.9091 Tf 14.678 10.364 Td [(k)]TJ/F80 10.9091 Tf 7.841 25.2 Td [(0)]TJ 0 -19.2 Td [(B)]TJ 0 -6.982 Td [(@)]TJ/F77 10.9091 Tf 11.515 01.088 Td [(�)]T17 10.9091 Tf 11.515 -16.259 Td [(1)]TJ 0J/F15 10.9091 Tf 8.484 0 Td [(2)]TJ -1.242 -16.259 Td [(1)]TJ 0 -16..9091 Tf 9.697 41.984 Td [(1)]TJ 0 -19.2 Td [(C)]TJ 0 -6.982 Td [(A)]TJ/F26 10.9091 Tf 11.364 0.982 Td [(j)]TJ/F74 10.9091 Tf 3.03 0 Td [(k)]TJ/F22 7.8456 Td [(B)]TJ 00002±)]TJ/F21 10.904 Td [(B)]TJTd [(2±)]T?20 10.9091Td [(B)]TJTd [6(½)]TJ/F72 7.8456 Td [(B)]TJTd [(2±)]Tê0 10.9091 Tf 10.909 2210.6 Td [(8)]TJ 09-9.818 Td [(>)]TJ 0 -3.273 Td [(<)]TJ 0=-19.636 Td [(>)]TJ 0 -3.273 Td [(:)]TJ/F;6 10.9091 Tf 16.97 01.984 Td [(k)]TJ/FT
1 0 0 1 28.346 196.889646.19930 1 2000.02579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 2000.02579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 -148.65579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 -148.65579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 -148.65579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 -148.65579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 -148.65579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 -148.65579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 -148.65579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 -148.65579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 -148.65579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 -148.65579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 -148.65579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 -148.65579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1 -148.65579 2000.02579 cm 
1 0 0 1 -2000.02579 -2000.02579 cm 
1 0 0 1
0 g 0 G
0 g 0 G
0 g 0 G
0 g 0 G
q
1 0 0 1 -340.075196.8896646.19930 1.417 9.631 re f
Q
0 g 0 G
0 g 0 G
1 g 1 G
1 g 1 G
1340.075196.8896646.19930 1 10.936 Tf 152.843 49.0002 m98šK
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Thank you!
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